
Charges for IUC 
 
1.  Due to Increasing Subscribers the Network usage and Better Spectrum Efficiency 
is also Increased. so some Incremental cost of Infrastructure is supporting large number 
of customer and this have resulted into lower calling cost to Paise 50, and in Some 
Schemes it Paise 30. 
 
2. So The Expecting the Caller Network to Reduce charges further is not justifiable. as 75 
% to 80% cost for making a call goes to IUC which is passed to Caller network. 
 
3. Some of the Operator is passing IUC benefits to Customer like Virgin Mobile this can 
be seen as IUC is set very high. 
 
4. I Suggest that IUC must fall to 10 Paise as Major Routing is done by Calling Network 
Receiving Network have little hurdle to do that. 
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